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Note: All questions are compulsory. Carrying of mobile phone during examing ons. will be

treated as case of unfair means. Missing data, if any, can be appropriately assume

1(a) Explain design productivity gap with a suitable example - *@a&\g . 1€
(b) What are the three different IC technologies used for the embedded system d@%@%@lm each

of them highlighting merits and drawbacks. | i [CO1, 3M]

2(a) What are the block data transfer instructions used in the A

they can be used for block data transfer. [CO2, 2M]

(b) Write an assembly level program for ARM processor 0 & t ¢1'n hexadecimal format. Use
ogram. %tem call type 0 displays ASCII
e\g 1 end the program.  [CO3, 3M]
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3. List different types of temperature sensors s ‘ %sed with an embedded system. Describe
with suitable diagram, how an RTD can b spséd ran ‘embedded system to measure temperature.
' [CO1, 5M]

4(a) What is wired-AND logic in CAN % e 7 ﬁxplain with a suitable example [COS, 2M]
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(b) How does CAN controll\us&’*é@ﬁfIA/CD protocol to improve the efficiency of data
transmission? Explain the CAN UL

{ rotocol in detail. : [COS, 3M]
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5(a) What are the a ‘angag -:"- disadvantages of ZigBee over other wireless network.
technologles'? le%ﬁgme "&p? ég\%dtlons where ZigBee can be used [COS, 2M]
E‘layer MAC layer of ZigBee protocol in detail [CO5, 3M]
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\ Real Fime System? Differentiate between Hard Real Time System and Soft Real
[CO4, 2M]

Time S}%\
\éﬁack Driven Scheduling, Weighted Round Robin Scheduling and Priority Scheduling
W1th spec% to Real Time Operating System [CO4, 3M]

7. Descrff)e the Analysis, Design and Implementation stages in Embedded System Development
Life Cycle. What are the different steps involved in Embedded System Development Life Cycle.
Explain them briefly. [CO6, 5M]



